AT T eT - 3 NCERT Solution

hel bl ARIQA

et frmerent, =g 3T SR geraTdT o A\ § ot 1 SiTa 8, hefees # g4 arelt 107 avifa gafaruifag €
Ut 80 auT & 3 Tl & fohAR O &7 &1 &1 351 gloterhl 3R Fge & o 45 fohetiHieR oiar Iommt R
385 §1g & Us 3fR 8000 & 31feIes 317 Us 1Y &1

09 &l T & HRUT, I8 Y3 H Teh WH A HoIg & T H A fohar 411 39 ufd A 39 39 R A
STehT OXT 1Y fa= |

TaferoT & Ufd Ik e TG o foll, Rd PR A 38 2019 # y=rsh @ wwrfaa fawam|
3Tt oft, o Ofcha TU & GrTfSieh it # 9TT oidl @ 3R WRA & s d-1h0l hRichAT I STHEAT i STt &
forerenT 3 @NTI & ol OROTT € St SiSATSaT & sTacig ff FATST & folg IRTG e i 32T T &

ereqref
ST ; 4T, [y ® & TS U 8 Yaifdd &d gu|
q&THTAT ; geff &t adt
YTelHRal . has WTYT H Usl i Gferd |
g ; YR 3R eI |
B ; forelt St a1 cafa 3 ufar gof gadur eik ufdegan
HeT : foredt eafery, aeg ar faer & ufa g+ gw= ok fazam
1A ; foRdlt ot 3= U a1 UfasT R TR ST
garsht : YR G3PR gRT ST ST a1t e Gated AnTRep I |
IS B GHTS o o1 o feiq fehy ST aret ahrd |
oRoT ; forelt t ORa Tet a1 Uit et ht aferT AT era|

Free worksheets, Learning material, practice tests & more at www.onepointlearning.com




QY Ao a1 - 3 NCERT Solution

UHd - AT

=i & fAg

1. U2 g9 fohg-fh o 3mmd &2

IR:- Ug-Utelf o1 AT-d Sfia # 981 78 81 U gH Siferdio, 8 UhR & thel-Bed, STst gfedi 3R cTehfsat
anfe oft <a g1

2. 71 9 kY foheft die) <hY S@wrer hY 22 Fa?

IA:- g1, Wl o THIWR @1e 1, UT 31, Weif hr shers, dient R Hie1eres gargai o fcena AT, diel
oh! SITGT YU ehTe G T

3. gfe 3rruehl TS & fAw SuAft T H &1 sraeR At at o1 Sl=-a1 e HA?

IR:- # UGTaROT hl &1 hAT A8l § 3R & ehl W1t &1 91l § | SHIY H U oI 3R il &bl +ff U
AT & folg Utcaried e

gifag ok Af@w
1. fererepT 3raA faht &R & ap1eoT Ui §372
IR:- fAERAT BRI U o7, W 45 fehellHier oid ISTANT R 385 &R71G & U oI & foit i g5
2. fAwernT &t 3R fohg-fohe ™ & ST STt 82
IR:- FATTERRT oht 31T 3R g&rATdT o A8 § Hff ST STt B
3. 31 T A TR & i T A QIR fhg A7
IR:- O el Bl o RN, SFAT = Y231 H Ueh WH H HoIgy & &0 H hrH {oha1 U1 @ H &hH d gy,
3gi- o fob Hd Ugl &l et & ercdt g &l g 3R T g <&l 81 gafeig, 361 gafarer &t = 3R 3
areft difeant & fAw sgar gfar s & fag g o g o
4. 3a9 9R U3 TR & fAg srn ol fo-foret A=t a1 9T shven get ghm?
IR:- 3T Sl U oA & g A §t 78 FAfAT a1 AT ehar ugdr o
. QR HH

I Y HH

GINIECARCRE]

yepfaich gAtfera

1S & 31t

1.9f sueh! fATerRT 3T At Ul 34T gt at iy & 32

IR:-

THE! F 3rmueht st fomernr, {8 ST 3R gemrdr & A & i ST 11T 8, & uRkfSa e argdn/amgdt
gl

31HT heiceh hl X8 dtett 107 avfa uafaruifag 81 3814 8ruA Sfia # 8000 & 3ifdes U o &, f=H 4
385 §1g & US 45 fherltiex od IorT WR & g1

314 T &l HH & sTes(a it 8R 7 A U I8 I 18 T ST el 1k 39 31l 1l & feld WRd
WepR A 2019 7 g=rsht & gerfAa fowam

Free worksheets, Learning material, practice tests & more at www.onepointlearning.com




QY Ao a1 - 3 NCERT Solution

3 3t oY ITATSIeh Sl # Tfehd w0 T 9T At € 3R WRA & ohg a-1ehuT hiishA] J STHAT hY STt &1
31T 3 AT o felq UROT § STt hfoATSal & ey it TH1sT & folg AiTa She ohl $1 3Ed &
2. g 39kt 3T oh T # IAh! TFRIAT h BT HAR et df 31T Hd Hl?
IiX:- Al Gt 3T S B | IIch! HgRIAT el I STawR At af &:
U8 T 3fR Ieh! qGUTA ehet | 3Th! HEg heeT|
3% GIhRUT ShRIhH] TR 31T TSI Il H TgRIdT el |
SThI Tt 3R ITeh a2l i GERI dch UG H AGG hedl|
ATaRUT TREUT & HEd & dR H SITeehdl thalld H 3¢h! HEE el |

TyT <hH 919
1. fAvrerRT A IpT 1T 81 UR =io) & fXea =ioie hegd 81 89 iR 2Tee T 2T 0 =9 wR
fafae-

Tt g
o] K|
3T foreett

2. Uz o g&1 oft hgl SITaT &1 T STY IdT Hehd g foh HeTT-37eRT HINTSHT # US ol SRIT-3T Thigl STIeT 8-

3. &3 dR, gH Ueh JUf 3R Yeh 312 ol fAeTe gas 741 Tgad 31eR 991 §, S19-

ERESItAN IqTel

F+9 =4 &Hr -] q&
S+ =9 RUE fasm ST
a+1 =7 EE] o= CE]
M+ =9 qq 3T ZIEED

Free worksheets, Learning material, practice tests & more at www.onepointlearning.com




&Y T & - 3 NCERT Solution

SR IR0 & YR R = Ry e K= ot d@aw 2reg ¢ Fifse-

FO T R

1. 3T fArerpT & aR # e 3 39 &rT & "R guI fayasst i ek st famaw 32 sraat v <t
9Td 9d13Q-

FR:-

Qg STHT,

e YuTTH

3TST # 3MMYeh! g U foid TE1/38 § ifch H 3TUch 3Tege hrH & 31cdd Ui gor/gs gl

37T §IIRI Ug TR GITaRUT <hl I&T het 3iR 31 arett difet & fig dgar gHar o= &1 St sreres o
forar &, ag &R fAw URom o1 Fia B

3T §¢ Hehed, THUUT 3R A1ed A g3t A ¢ & afe gx gefeadt gf ofik geri & folu sreet &M o 6
1 I &, dl 89 i it Jfhel UR o Tohd 5

3Tgeh Sfiae 3R st = got URa fohar & foh # oft 3197 Sfiam 7 o a1l o 9|

& 3qch gRT AT 7Y AT T SITEARUT hesTTT/ T SR GATAROT <h &M S AT ST ARTGH S bl T
T / S|

TY<h GRT WA fehT 7T aieheur ehriehHl H AT o 3R STl HHLAT &het el § dTaT ehdl/hee! g

# 31+ gl 3R uRaR &Y 31udh AR & FaTSHT / Fardt 3k 38 +ft yarfaror T@reror & enfaer g & faw
TR et / STl |

3 Siia 3R & g7 Tadh faw ORom o1 &t 81

W 3TUeh! T 3R ey a1 T Ui greT eheal/ el g

3{TYhT/3ITUh,
(STTUHT ATH)

Free worksheets, Learning material, practice tests & more at www.onepointlearning.com




&Y T & - 3 NCERT Solution

2. A= 3@eR? 34 aegsil wR et a91¢ St gH ust @ A -

Free worksheets, Learning material, practice tests & more at www.onepointlearning.com




